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JULY MONTHLY TEST - 2024
| ' Standard - X RegNo[y [oJAle[alr
Time: 1.30 hrs. - MATHEMATICS K "_"Mafki;?()

PART - A |

I. Choose the correct answer R 55(1:5
1. A={a, bip}, B={2,3},C= {p, q, r, $} then ‘n[(AUB) x C] is

A) 8 B) 20 - C) 12 . D)16
2. If {(a,8), (6,b)} represents an identify functlons, then the value of a

and b are respectively

A)(8,8) B)(66) C)(86) D)’(6,8) Re
3. 1f g = { (1,1), (2,3), (3,5), (4,7) is a function, given by . .

g(x) = ax + B then the value of o and p are - |

A) (-1,2) B)(2-1) - O (-_1,-2) ..Da2
4, 79 = _(mod 100) | g, wite ‘
A) 1 By2- . ... C)3 - D)4 |
5. IfA=2%andB = 264 +’ 263 4 2f2+ ... + 20 which of the following is
true? ‘ - e

-b) A and B are equal _

a) B is 264more than A A
d)Ais Iarger than B by 1

c)B 'IS larger than A by 1
PART-B .
' ' 6x2 12

(0,3), (O, 4), (3 3), (3 4)} ﬂnd A and B.
{1, 7 10} .which of the followmg sets are

~_II. Answer any 6 questions
IfBxA= {(23),(24),

;x/LetA { 3,4,7,8} and B =
o relat|ons from A and B?
10), (8 1) } hy. R2 = {(3 1), (@, 12)}

(l) R1 == { (3 7) (4 7)/ (71
‘8/A relation fiis defined by f(x) = x? -2 where. Xe{ 2 -1, 0,3} . .

- (i) List the elements off (i) Isfa functlon‘? _ x '”-"f-
;- 9. Let fbea function from rto ndeﬂned by f (x) = 3x -5. ﬂnd _thg yayyes of
~aandb given that (a 4) and (1 b) belong to f. : : :

1f 13824 = 27 X 3b then find a andb.
/hich term of-an A.P 16, 11, 6, 1,108 754?3 ,

a G.P 729, 243, 81,.. .. find t7
5+10+15+ .+200

L T

12 In
13. Find the sum

”RT & e sxs—zs

' 7 squestlonl. K Aot
AR /1<x<4} Be{erIOSx“Z}a"d

L
Let A= { xeN
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C= {x € le <3} Then verify that A X (BuC) = (AxBﬁAxC)
15, A function f : [-5,9) 5> Ris defined as follows

ox+1 -.Ssx<2;
- f)={5x*-1 ; 2<x<6
3x-4 ; 65x<9

2f(-2) - £(6)
) a1 2)

find (i) f (-3) + 'f_(2)' i) - f(1)

1 Letf: A Bbe a functlon defined by f(X) = -3—3 » Where

- A= {6, 9 15, 18, 21} andB {1, 2, 3 4, 5 6} Representfby
i) set of ordered pairs ) i) atable

/[Ii) an arrow diagram |v) a graph
¥7.1f f(x) = 2x +3,9(x)=1- 2x and h(x) = - 3X.
Prove that fo(goh) (fog)oh— 1 _
; IB/ A Mother diwdes Rs. 207 into ree parts such that the amount are in
A.P and gives it to her three children. The product of the two least

amounts that the children had Rs. 4623 Find the amount recelved by
each Chlld

. Find the sum to n'terms of the. series 3+33+333+.
2 Find the sum of the series 103 + 1134 123+ ..... o 203

_ PART D
. Answer any one: - L 1x8-.8‘ |
Construct a trlangle S|mllar to a given triangie PQR wnth its sides equal

to 2 of the. corresponding sides of the tnangle PQR. (scale factor % <1)

: 22 Constrct a triangle similar to a given tnangle ABC wwth |ts sides equai to

ar g of the corresponding sides of the triangie ABC (scale factor‘-g > 1)

" -

g e
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